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1 BH 88X et 34 38 72
2 X TR il 38 37 75
IFEE —= ARm 39 38 77
4 Ka & MR 42 38 80
5 AHF & =il 43 38 81
6 k% F5 /N =] 40 4 81
7/hNE 1&5A W AT 43 39 82
8 IR BX BHH 42 40 82
9FH EH HkrFm 40 42 82
10 £ F1T MR 44 39 83
"nEEkE 7 FEM 43 40 83
12 2@ & INFHR™ 42 4 83

13 8RR X HrFmh 39 44 83
14 @A 1k i AT 46 38 84

15 8 IE1T =517l 45 39 84
16 £ &2 mRE™ 44 40 84
17 Rk IEE WEM 43 41 84
18 LBk EBE ™ 42 42 84
19 #5K HE PNl 45 40 85
20 iR #15 AL 43 42 85
21 Z48 8§k HF™M 45 41 86
22 mH KRB FEES 46 41 87
23 BE FF =Kl 46 41 87
24 H 8= R E 46 41 87
25 BF BEXR evigisl 45 42 87
26 JIlA@ FF| eti] 44 45 89
27 JEER 1E3E Ml 46 44 90
28 EE E fafE™ 49 42 91
29 5@ B mR™ 48 43 91
30BEE &F FEM 48 43 91
31 $kEF ={# FEM 46 45 91
32 Bl Seu FEES 43 48 91
B3EE BHME XKER 50 42 92
34 M ER etii] 47 45 92
3B =E KRB INTFRH 48 46 94
36 ZER IEF A 46 48 94
JVBA == XKIRT 49 46 95
3B IMAK EX HE AR 47 48 95
39 B Fk Ryt 52 44 96
40 FZx &E fafE™ 51 46 97
M /R EA Il 52 46 98
42 B & FER 51 47 98
43 K2 #7F] JANE: 7] 46 52 98
44 1Pk RT3k mE™ 53 46 99
45 hft BE FEM 56 45 101
46 FxF AR XKIRE™ 57 46 103
47 Lo 4 FrHET 48 55 103
48 4\ith FHRZBER BT 59 49 108
49 tkiE FiE izhil 62 47 109
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